
adratics: Graphs and Vertex Form 

x2Parent Function: y = 

Features of Parent Grap 

1. Vertex: (DI o) 
2. Axis of Symmetry: --'-'I'---;:__ 

3. Domain: f <>O ,~ j 

General Vertex Form of a Quadratic: = a(x - h)2 + k 

1. How does a affect the parent grap 

a) If a < 0: the parabola is re lected in the x-axis (up and down direction) 

b) If lal > 1: the parabola is tretched vertically (it looks narrower) 

c) If !al < 1: the parabola is ompressed vertically (it looks wider) 

2. How doh and k affect the parent g aph? 

a) h: moves the parabola le right (in the opposite direction) 

b) k: moves the parabola up own (in the indicated direction) 



Examples: Graph the parabolas accur 

l. y ::;:: (x - 3)2 + 2 

Axis of Symmetry: X. :;;.-- 3 

(show as a dotted line in graph) 

4. y = -2(x + 4)2 + 5 
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Axis of Symmetry: X:;;.. - L{ 

(show as a dotted line in graph} 
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2. y = x2 
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3. y = 

Axis of Symmetry: X.::;;.. 0 

(show as a dotted line in graph) 

5. y=-(x-2) 2 
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Axis of Symmetry: X !:--1. 

(show as a dotted line in graph) 
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Axis of Symmetry: X ::::- .-/ 

(show as a dotted line in graph} 

6. y = 3(x - 1)2 - 6 

Axis of Symmetry: X ::;... f 

(show as a dotted line in graph} 
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Examples: Write the Equations of the uadratic Function using the given graph. 

8. y~ -(xt~)2 :t~ 9. y~ 3(x 1-1):i.-tij;: a(x-s)~- ( 7. 
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10. Write the equation for the parabol with a vertex of (2, -3) that goes through the point (1, 2). 

h .~ x, y 
2 y :;: 'c)l >l - 0 t- r­

;;_ .=: a(t-:;l-) 2-_ 3 
~ :::- ~ ( - 1) ~ -- 3 

;).:;:;. a--3 
5 ~ d-

11. Write the equation for the parabol with a vertex of (-7, 6) that goes through the point (-5, -2) 

h ~ '1- y 
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to [f -:2{x+if~ +- t.o] 
- ;;2 =- a ( :i.)'2- -r" 
-- ;;2.. .:=. l/ 8 +- (:, 
- ~ - '-la 
--:;_ == a 


